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//7 5 ZSchool
public class School {
public int[] ke = { 0, 510, 722, ~ 621, 401 };
public String[]l km = { "", "3 v Ea—% C"TF VI A AT, ~"F T Ly b , "EBTEkK S
public int[] ms = { 0, 40, 10, ~ 40, 1 };
public int[] daisu = new int[11];
public String mei;
public int gSu;
public int jSu;
public School(String mei, int gSu, int jSu) {
this.mei = mei;
this. gSu = gSu;
this. jSu = jSu;
}
public void daiSyukei(int kCode, int dai) {
intm=1;
while(kc[m] != kCode) {
} [ m
daisulm] = daisulm] + dai;
}
public void output(O {
System. out. printf ("%-4s [%, bdik % TdAY ¥n", | (2) ], gSu, jSw;
System. out. println(" Tes 2 BHEGE FEEH BEEWEGE WE");
for(int s = 1; s <= 10; s++) {
int heikin = daisuls] / gSu;
String biko;
if( (3) ] >=msls]) {
biko = "O";
} else {
biko = " ";
}
System. out. printf (" %8s %, 6d %2d %2d %1s¥n", km[s], daisuls], heikin, ms[s], biko);
int pcNinzu = (4) ;

System. out. printf(" I v Ea—% 1EHkOOREAFEEK  %2dA\¥n", pcNinzuw);
}

// 7 5 ZSeibidaisuTyosa
import java. io.BufferedReader;

{

public class SeibidaisuTyosa {
public static void main(String[] args) throws IOException {
School[] sh = new School[4];
sh[1] = new School ("/N#% ", 528, 153207);
sh[2] = new School ("th2Fks ", 234, 80811);
sh[3] = new School ("E&E2E#R", 127, T8867);
BufferedReader fileln = new BufferedReader (new FileReader("seibi.csv'"));
String line;
while((line = fileln. readLine()) != null) {
String[] str = line.split(","):
int sCode = Integer. parselnt(str[0]);
int gCode = Integer. parselnt(str[1]);
int kCode = Integer. parselnt(str[2]);
int dai = Integer. parselnt(str[3]);
shlsCode]. | (5) l;

}

fileIn. closeQ);

Scanner sc = new Scanner (System. in) ;

System. out. print("KFET — K2 AL TL S W => ")

int nCode = sc.nextIntQ;

while(nCode != 0) {
sh[nCode]. output O ;
System. out. print("®KFE T — FAATILTL LSV = "),
nCode = sc.nextIntQ;

}

sc. closeQ;
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<TYVOEBEBITOISL>

Option Explicit
Dim Bunrui As Long, Ken As Long, Sc(40) As Long, Sm(40) As String, Mk(40) As Long, Kin(40) As Long

Private Sub UserForm Initialize()
Dim Mgokei As Long, Hiduke As Long, Scode As Long, Kingaku As Long, j As Long, Zritu As Long, Zhei As Long
Call Syokika
Labell. Caption = "": OptionButtonl.Value = True: Bunrui = 1
Open ThisWorkbook. Path & "¥syohin. csv" For Input As #1
Do While Not EOF(1)
Ken = Ken + 1
Input #1, Sc(Ken), Sm(Ken), Mk(Ken)
Mgokei = | (1) |
Loop
Close #1
Open ThisWorkbook. Path & "Yuriage.csv" For Input As #2
Do While Not EOF(2)
Input #2, Hiduke, Scode, Kingaku

=1
Do While Sc(j) <> Scode
Loop
Kin(j) = Kin(j) + Kingaku
Kin(0) = Kin(0) + Kingaku
Loop
Close #2
Zritu = Int(&in(0) * 100 / Mgokei)
Zhei = Int(Kin(0) / Ken)

Labell. Caption = " " & Format(Kin(0), "####, #i##, ##0") & " "
Format (Mgokei, "###, ###, #40") & " e
Format(__(3) ] "##0") & " "y

Format(Zhei, "##, ####, ##0")
End Sub

Private Sub MLFE Click()
Dim k As Long, Bun As Long, Ritu As Long, Tassei As Long
Call Syokika
For k = 1 To Ken
Bun = Int(Sc(k) / 1000)
If Bun = Bunrui Then
Label2. Caption = Label2. Caption & Sm(k) & Chr(13) & Chr(10)
Label3. Caption = Label3. Caption & Format(Kin(k), "#, ###, ##0") & Chr(13) & Chr(10)
Label4. Caption = Label4. Caption & Format(Mk(k), "#, ###, ##0") & Chr(13) & Chr(10)
Ritu = Int( (4) D
Labelb. Caption = Labelb. Caption & Format(Ritu, "##0") & Chr(13) & Chr(10)
If >= 100 Then

Tassei = Tassei + 1

End If
End If
Next k
Label6. Caption = Format(Tassei, "#0")
End Sub
Private Sub OptionButtonl Click()
Bunrui =1
End Sub
Private Sub OptionButton2 Click()
Bunrui = 2
End Sub
Private Sub OptionButton3 Click()
Bunrui = 3
End Sub
Private Sub OptionButtond Click()
Bunrui = 4
End Sub
Private Sub #71_ClickO
End
End Sub

Private Sub Syokika()
Label2. Caption = "": Labeld.Caption = "": Label4.Caption = "": Labelb. Caption = "": Label6.Caption = ""
End Sub
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(2) m\e\i\ | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
(3) h\e\i\k\i\n\ | | | | | | | |
(4) j\S\u\ \/\ \d\a\i\s\u\ I:\l\j | | | | | | |
(5) d\a\i\s\y\u\k\e\i\ <\k\c\o\d\e\, | \d\a\i\) | | | | | | | | | | | |
(vY0EE) (B AXE, IWXFEELU=, EEFOREBROEAMbDEL,
[7] (1) M\g\o\k\e\i\ \—"_\ \M\k\ (\K\e\n\> |
(2) j\ \:\ \j\ | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
(3) Z\r\i\t\u\ | | | | | | | | | | | | | | |
(4) K\i\n\ (\k\) | \*\ \1\0\0\ \/\ \M\k\ (\k\) |
(5) R\i\t\u\ | | | | | |
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